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1000/c 2do)/d(m_1 + m_2) [1/GeV]

|
<
N

H
o
w

H
o
N

=
(@)

=

=
<
[N

|
<
w

<
N

|
<
ol

[EEY

0.5

70

00 Qev PP

Jets

Jet Mass (anti-kT(o.7), 2500<pT<6OO, ly|<2.5)

m CMS
---0-- Pythia 6.428 345
..... B---- P ‘A\g "";‘7‘,1' a7 6

[ il
= 7 > IE
= —A—/ythia 6.428 370 =
[ /APythia 6.428 default _
= Pythia 8.301 default =
| &
] i =
| 4 _
| E " 1 1 " 1 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1
0 100 200

(m_1+m_2)/2[GeV]

Rivet 3.1.0, = 7.4M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


